Maisonette in Mosta



Mosta, Central



€200,000

Reference No: 240291036-830

Total Rooms: 5

Bathrooms: 2

Floor Area (m²) : **159**

Bedrooms: 2

Maisonette - For Sale - Mosta

Mosta new development already built and being finished small block of 12 units, a selection of 1 and 2 bedroom apartments and penthouses different layout to choose being sold highly finished including bathrooms and excluding internal doors sold free hold optional garages available to. Contact agent for further details.

Features

- 🗸 Lift
- PVC Piping
- Balcony

Rooms

- Kitchen/Living/Dining : 9.09 x 3.35 m (30.45 m2)
- Double Bedroom : 3.77 x 2.55 m (9.61 m2)
- Double Bedroom : 3.24 x 3.65 m (11.83 m2)
- Bathroom Ensuite : 3 x 2.21 m (6.63 m2)
- Bathroom : 3 x 2.21 m (6.63 m2)

Ceramic FloorA/C















Alexander Borg RE/MAX North - Qawra

M: 79522692 E: aborg@remax.com.mt T: 21585846

RE/MAX North - Qawra Dawret il-Gzejjer,Qawra, St Paul's Bay, Malta